, NF O I = 2 % s . a— .
FREN PR 1NFER Y- FHF12EFHEN TP o
MRS
3 e

,ﬂi a iF ¥ % 2 i s

11w ¥ RIET R 7 Radill s VEBRE 3 AEE R 4 (g) Y 5.5
v | SF | T (CAS) 6Kg | A fiegti (B JBR) 2.5Kg /AR 4Kg |=ERER 7Kg [EHIN(ET ) 3Kg 90| & 4 # 347 2.3
14 | B UNSEMERET)  1Kg|REE(HT) 2Kg | BB A% B 1Kg |EHEEE]()4%)  0.5Kg| g mtiE 1Kg 7 1 (g) s 15
p RZBRMUR (W) LW [ O] *2%) 1.5Kg [SLERI(RY) L | RE 4% 0.2Kg |77 (¥F) 0.1Kg 19. 4| 7 *5 %8 2.5
5 SHEEEI(TT)  0.6Kg| S 0.1Kg | JLfEH 0.1Kg | 7% 0.1Kg o (g |k 0
>y HAEA: 0.2Kg |77~ 0.1Kg [#i~ 0.1Kg 28.6| muE 0
- B 0.1g BE(HH)
% i 649

75

1| % B+ & & Ll el B At B FWELEY § T pEAT () T 5.5
1| SE |BEEIE *Q) 85K | S RESE(VJH)  3.5Kg|ETH(CAS) 5Kg | AR EE A (VB EIT) K | 4814 1.2Kg 90| = ¢ 2o 2.3
15 | ¥ |@TEe0gm) [T TN 15Kg [ 0.2Kg |7~ 0.1Kg |22 (kg) 1Kg 5 95 (g) FEa 1.5
2 HR(VIED) 0.1Kg|kKEsA R P 1.2Kg [fHALSRERF(KG) 0.1Kg KB 0.5Kg 19. 4| 7 *q4f 2.5
5 f 2o 0.1Kg [F#R(F])  0.5Kg HHE(ER) 0.1Kg 0 W (g) | k% 0
5 ARER  01Kg 28.6| 4 0
= BE(xH)
% i 649

76

11| 9 RS B ok e 450 % g R e ] 25 4 (g) EREF 5 5
v | SF PREEET) 2Kg |#EPE(TS5*CAS) - 85 (fRexG(RILLI/N) - 85 ,7ﬁ 4E7f<(CAS) 8Kg | %7 (kg) 1.2Kg| E 105|2 & # 3 9.7
16 = ()] 1.5Kg 11 SHZEE(V)4%)  0.3Kg|[ARE*A 1Kg w5 9(g) ey 1.5
A TR IS Kg|EH 0.1Kg R 0.1Kg [/NERL(EY)  1Kg 20.6|  * 4 2.5
5 IR ETF (5659 ™17E) 1 FEE(ER) 0.2Kg 0 W (g) | k% 1
2y F£H((CAS)  05Kg 31.4| g 0
= KHE T (KG*EZE) 0.5Kg #E(x+)
F S SHZEEI(NT)  0.5Kg 731

76 =1 1629) 0.2Kg

11 f§ 4 f* A 5f 7 R el 2 TERY & 5, 3 Feykig A2 (g) B 5.5
ol |RBUIRQAET) 855 |EEeE(FT)  3.5Kg|#E&E(kg) 4Kg | At IE) TKg | EIE (2K E) 18 92.5| = & ¢ 34 3.2
17 | A< /$7%'T(EF‘T) 1.2Kg|FrH 1.5Kg |E4% 0.1Kg 541 1Kg #a 77 (g) R 2
p L3 (600g*/NEEDS) 15 | B (B) 0.1Kg H7E (kg) 0.8Kg 23. 6| =4 2.8
3 FERA(SEASE)  1Kg a4k ()  0.6Kg 0 B (g) | kxR 0
# SHEZEE(hT)  0.6Kg RE& 0.5Kg 35.4| i 0
z RIBEAI%*E  0.5Kg #R(4+)
% i AR I%)  05Kg 724

75 EE(%) 0.1Kg

1] e ot R £ A F jFaE i ik 8 () | LA | 5.9
vl |AUREAASE 45Kg[hE(EIH)  3Kg|HEE (k) 4.5Kg | A% TLIE(PIEL) TKg |BREH () 1704 88| 2 ¢ 3u 3.2
18 | &< |KREXWIR) 15Kg|7Kafk 2Kg |EKHI(Q) 1Kg [FR= 0.1Kg |/NEZE(TIEL)  1.5Kg #a7%(2) FEE AR 2
p CREH(S00mIXGE) L6 |féR(ElE)  1Kg HREPBR(1500) 16 22. 1| # 548 2.5
A SEEI(H48) 1Kg [#HEEE(V]H)  0.5Kg fre(EE)  0.2Kg o B (g) | k%% 0
g sofif (80g) 1 | RE% 0.2Kg 34.8| i 0
ki EEtadh 0.5Kg R (4 +)
ke |HE 0.1Kg 690.1

76

WG R T 04-8613339 @ E : 04-8613336 Wi p e

¥R

>.<2k cHpEp o RA L FR

EF

ERETS




